Thank you for your interest in Algebra 2 this year! Please complete the application and email it to me a shabacivch@aimacademy.online Once I have approved your applications, you may proceed with registration at Aim Academy.
Requires hours: 6-10 hours per week (this will depend on student’s individual ability).
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Aim Academy Algebra Il Placement Test
Which expresion isequivalent 0.7 - 47

o -2 b2y o x-2) 4 @rae-2)

Find the coordinates of the vertces of the figure aftr a reflection over the y-axis. Then graph the reflection
image.

o A5 B(40). 1) e A(4-5)LE(5.0.C(2-1).

D(1,-4) D(1,-4)

W W

1 outofd





image2.tmp
10

.

[

Expand (21 +4)-x* -3).

a a2l ]
b2 -2 A2 e a2

Whatis the equation of a line with slope -3 that passes through the point (-2, 0)?
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Which s o a related fact of the equation x +2 =77

a xe7

Solve the equation |

a 19,21 bo19,21 e 2

Sianplity (26 )31y")"

A -gey b -1y o ety
Between what two consecutive integers is /151

a landi2 b l4and1s e 12and13
Solve 4" =
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Solve the proportion.
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Choose the equation whose graph is shown.
7

a b. dy=22)
Use the Quadratic Formula to solve the equation x” +9x + 1

oalEs o 0xdT oxdEs 92477
a == e =227
Suppose M i the midpoint of AB. 1A = (4, 7), and M = (2,-1), find the coordinates of 3.
a (13) b (8,-9) e (10,15) d
‘Whatis the cquation of the line graphed below?

3
a <. d
Solve the inequality ~17 <3 -5
1

a dex b dsx o g d
‘Which of the following could be the length of the third side of a triangle with two sides measuring 34 e and
12em?
a 20em b 30em o 46em 4. s0em
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Multiply (x- 6

a %36 bo2x-12

Sianplity 264 3) - 2 3)
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Suppose this statement is true: fvou smoke. then you will ge fung cancer. Which s the converse of the.
statement?

a If youdo ot get fung cancer, then you <. If you get g cancer, then you smoke.
do not smoke.

b..1fyou do not smoke, then you will not get d. _If vou do not smoke, then you will get
ling cancer. lung cancer.

Whatis the slope of a fine that passes through the points (-2, 5) and (7, 3)?
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A building cass a 12-ft shadow. At the same ime, a 61t satue casts a 361t shadow. How tall i the
building?
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